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QUESTION 1

Whywould you use Rebuild over Recalc in an Active Form?

A. When a conditional format on a report changes

B. When metadata is added to the TM1 model that must be displayed on the row
C. When data changes along the rows of a report

D. When a leaf element is added to a consolidated element of a report

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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File Edit View Options Help
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| Price and Cost [N
Unit sale price  Unit cost |
Cooking Gear 20.31 2087 4
Lanterns | 2912 2114
Packs | 175,37 126,51
I Sleeping Bags 103.83 78.01
Tents 453.41  385.04
Golf Accessories 60.68  28.37
wors | 598.90  345.95
Putters ' 116,07  62.55
‘Woods 948,91  550.10
Climbing Accessoriq 3200 2110 —
Rope 293,57 220,00
Safety 7244  43.68
!l Tools 56.07]  38.14
First Aid 11,41 8.02
T e e an7 2 3N |
103.83 p

In the cube shown in the exhibit, you need to show only the five most expensive products. The list should change

dynamically with the selection of the budget version.

How would you achieve this?

A. Create a filtered subsetfor products with the option TopSum.
B. Create a view filter with the option TopSum.

C. Create a filtered subset for products with the option TopCount,
D. Create a view filter with the option TopCount.

Correct Answer: D
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QUESTION 3

You need to calculate a ratio on all levels in IBM Cognos Insight. Which action would you take?
A. Create a calculation for C and N elements.

B. Create a calculation and set the calculation order to Summarize First.

C. Create a calculation for all elements.

D. Create a calculation and set the calculation order to Calculate First.

Correct Answer: B

QUESTION 4

Which three statements are true regardingTM1 Excel functions? (Choose three.)

A. The VIEW function creates an optimized view of the cube specified by the cube argument.

B. The DBR function stands for Database Read.

C. The value returned by the DBRA function cannot be edited.

D. ELCOMP returns the name of a child of a consolidated element in a specified dimension

E. SUBNM returns the element of a dimension subset and allows a double-click to bring up the subset editor.

Correct Answer: ADE

QUESTION 5

There has been a number of requests by users to have an option to easily select quartersfor their views, rather than
having to select the individual quarters every time they go into their views.

Which solution meets this requirement?

A. A new public view should be created.

B. A new private subset should be created.
C. A new public subsetshould be created.
D. A new alias should be created.

Correct Answer: C
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